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Directions: (Q. 1 —9) Select the related letter/ 
word/number from the given alternatives.  
1. EVFU : TGSH : : IRJQ : ?  

(a) KWLX  (b) PKOL 
(c) OLPK (d) PKLO 

2. L ×  M : 12 ×  13 :: U ×  W : ?  
(a) 21 ×  22 (b) 24 ×  26 
(c) 9 ×  11 (d) 21 ×  23 

3. CFIL : XURO : : ORU X : ?  
(a) ROLI (b) RITO 
(c) LIFC (d) MJFC  

4. CFIL : ABCD : : ? : WXYZ  
(a) YBEH  (b) DCBA  
(c) JHPS (d) XURO 

5. Zoology : Animal : : Psychology : ?  
(a) Animal   
(b) Human being  
(c) Animal and human being   
(d) Plant  

6. Life starts : Embryo : : Life ends : ?  
(a) Old age  (b) Dead body  
(c) Illness  (d) Death  

7. Man : Mammal : ?  
(a) Hail : Snow   
(b) Native : Inhabitant  
(c) Offspring : Family   
(d) Liberty : Literate  

8. 1 : 8 : : 4 : ?  
(a) 64 (b) 512  
(c) 128  (d) 32 

9. 6 : 2 : : 8 : ?  
(a) 1 (b) 3 
(c) 7 (d) 5 
Directions: (Q. 10 —20) Find the odd number/ 

letters/number pair from the given alternatives.  
10.  (a) 81 (b) 93 
 (c) 66 (d) 72 
11.  (a) Frog  (b) Tortoise  
 (c) Crab   (d) Fish  
12.  (a) 186 -69 (b) 168 -570  
 (c) 1001 -100  (d) 5270 -2936  
13.  (a) (64, 216)  (b) (216, 02)  
 (c) (343, 01)  (d) (125, 27)   
14.  (a) Jammu and Kashmir   
 (b) Haryana  
 (c) Himachal Pradesh   
 (d) Arunachal Pradesh  
15.  (a) IVEF  (b) VEENS  
 (c) EINN  (d) VEIIDD  
16.  (a) 17  (b) 27 
 (c) 37 (d) 47 

17.  (a) 6 3 8 5 2  (b) 5 2 6 3 8  
 (c) 2 8 7 5 1  (d) 8 5 3 6 2  
18.  (a) Number  (b) Form  
 (c) Weight  (d) Size 
19.  (a) Commission  (b) Team  
 (c) Agenda  (d) Board  
20.  (a) Addition  (b) Subtract  
 (c) Multiplication  (d) Division  

Directions: (21 —24) A series is given, with one 
term missing. Choose the correct  alternative from the 
given ones that will complete the series.  
21.  DF, GJ, KM, NQ, RT, ?  

(a) UW (b) YZ 
(c) XZ (d) UX 

22.  B I P ? D  
(a) W (b) S 
(c) R (d) U 

23.  AAC  BBD  CCE  DDF  EEGF ?  
(a) FG (b) GH 
(c) FH (d) DG 

24.  RAZ  SBY  TCX  UDW  VEV ?  
(a) WFU  (b) FWU 
(c) XGX (d) ZAT 
Directions (25 —26) : Which one set of letters when 

sequentially placed at the gaps in the given letter 
series shall complete it ?  
25.  a _ ba _ c _ aad _ aa _ ea   

(a) babbd  (b) babbc  
(c) bacde (d) babbb  

26.  aa _ aabb _ b _ aa _ aa bb _ bb  
(a) bbbba  (b) aabbb  
(c) babba  (d) bbbaa  

27.  If DEAF is equal to 32, what will be LEAF=7?  
(a) 48 (b) 50 
(c) 52 (d) 56 

28.  In a certain code, 'CERTAIN' is coded as 'XVIGZRM', 
'SEQUENCE' is coded as HVJFVMXV'. How would 
'REQUIRED'.  
(a) VJIFWTRV  (b) WVJRIFVI  
(c) IVJFRIVW  (d) FJIVWVIR  

29.  If P denotes ÷ , Q denotes ×  R denotes +, and S 
denotes -, then 18 Q 12 P 4 R 5 S 6 =?  
(a) 53 (b) 51 
(c) 57 (d) 95 

30.  Find the wrong number in the series from the given 
alternatives.  

 17, 36, 53, 68, 83, 92  
(a) 53 (b) 68 
(c) 83 (d) 92 
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Directions  (Q. 31) : From the given alternatives 
select the word which cannot be formed using the 
letters of the given word.  
31.  CONSTITUTIONAL  

(a) LOCATION  (b) TUITION  
(c) TALENT (d) CONSULT 

32.  If 25 ÷  5 = 15, 30 ÷  6 = 20, then 35 ÷  7 = ?  
(a) 20 (b) 50 
(c) 25 (d) 75 

33.  If 'P' denotes 'multiplied by'; 'R' denotes 'added t'; 'T' 
denotes 'substracted from' and 'W' denotes 'divided 
by', then 64W4P8T6R4 = ?   

(a) 96 (b) 2
�6

�7
 

(c) 130  (d) 126  
34.  It was Shriram's and Sreedevi's 12th Weddin g 

Anniversary. Shriram said "When we got married, 

Sreedevi was 
�7

�8
th of my age, but now she is 

�9

�:
th of my 

age". What actually are their present ages ?  
(a) Shriram 36, Sreedevi 30  
(b) Shriram 30, Sreedevi 24 
(c) Shriram 40, Sreedevi 34 
(d) Shriram 38 , Sreedevi 32 

35.  If 64 ÷  14 = 5, 92 ÷  31 = 7, 26 ÷  11 = 6, then 56 ÷  22 
= ? 
(a) 39 (b) 7 
(c) 36 (d) 11 
Directions (Q. 36 —37) : Select the missing number 

from the given responses.  
36.   

 
(a) 2 (b) 3 
(c) 4 (d) 6 

37.   

  
(a) 2 (b) 3 
(c) 4 (d) 5 

38.  Sherly s tarting from a fixed point goes 15 m towards 
North and then after turning to his right he goes 15 
m. Then he goes 10, 15 and 10 metres after turning to 
his left each time. How far is he from his starting 
point ?     
(a) 5 metres  (b) 10 metres  

(c) 20 metres  (d) 15 metres  
39.  Ram and Shyam start walking in opposite directions. 

Ram covers 6 km and Shyam 8 km. Then Ram turns 
right and walks 8 km and Shyam turns left and walks 
6 km. How far each is from the starting point ?   
(a) 8 km  (b) 9 km  
(c) 10 km  (d) 11 km 
Directions (Q. 40 —41): In the following questions 

two statements are followed by two conclusions 
numbered I and II. Which one of the four alternatives 
is correct ?   
40.  Statements:  1- All teachers are aged.  
  2- Some women are teachers.  
 Conclusions:  I. All aged are women.  
  II.  Some women are aged.  

(a) Only conclusion I follows  
(b) Only conclusion II follows  
(c) Neither conclusion I nor II follows  
(d) Both conclusions I and II follow  

41.  Statements:  1- All skaters are good swimmers.  
  2- All goods  swimmers are runners.  
 Conclusions:  I.  Some runners are skaters.  
  II.  Some skaters are good swimmers.  

(a) Only conclusion I follows  
(b) Only conclusion II follows  
(c) Both conclusions I and II follow  
(d) Neither conclusion I nor II follows  

42.  If Al phabets are serially numbered, one of the answers 
given below has a meaningful word hidden in it. 
Identify the answer.  
(a) 5, 1, 3, 5, 20, 8, 18   
(b) 18, 5, 8, 1, 3, 5, 20  
(c) 20, 5, 8, 1, 3, 5, 18   
(d) 5, 18, 5, 8, 1, 3, 5, 20  

43.  If  LUXOR is coded as 30,  then GUILDS will be coded 
as ? 
(a) 36 (b) 38 
(c) 24 (d) 40 

44.  In the following list of English alphabets, one alphabet 
has not been used. Identify the same.  

 X N F A P S R W L T M D E X M G B  
 C X Q J L O P V R C Q J Z O H S G  
 O D I P T S M R A B E F G N U N E  

(a) I (b) K 
(c) J  (d) V 

45.  How many 9's are followed by and preceeded by the 
numbers divisible by 2?  

 8 9 6 5 3 5 9 6 8 3 4 9 6 5 2 6 9 7 3 7 2 9 4 1 3 7 9 4 
1 7 3 4 9 8 4 5 3 9 7 6 1 5 3 1 9 5 7 4 2 9 6 8 5 3 2 9 
5 7 4 8 9 4 5 1  
(a) 6 (b) 8 
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(c) 10 (d) 12 
46.  From the given answer figures, select the one in which 

the question figure is hidden/embedded.  
 Questions figure : 

  
 Answer figures:  

  
(a) (b) (c) (d)  

Directions (Q. —47) : Which answer figure will 
complete the question figure ?  
47.  Ques tions figure:  

  
 Answer figures:  

  
(a) (b) (c) (d)  

48.  A square sheet of paper has been folded and punched 
as shown below. You have to figure out from amongst 
the four response figures, how it will appear when 
opened?  

 Questions figure:  

  
 Answer figu res:  

  
(a) (b) (c) (d)  

Directions (Q. 49): If a mirror is placed on the line 
MN, then which of the answer figures is the right 
image of the given figure?  
49.  Questions figure : 

 
 Answer figures : 

  
(a) (b) (c) (d)  

Directions : (Q. 50) A word is respres ented by only 
one set of numbers as given in any one of the 
alternatives. The sets of numbers given in the 
alternatives are represented by two classes of 
alphabets as in two matrices given below. The columns 
and rows of Matrix -I are numbered from 0 to 4 an d 
that of Matrix -II are numbered from 5 to 9. A letter 
from these matrices can be represented first by its row 
and next by its column, eg, 'T' can be represented by 
31, 76, etc, and 'S' can be represented by 14, 99 etc. 
Similarly, you have to identify the set for the word 
STAR.   
50.       MATRIX —I           MATRIX —II  

  
(a) 23, 76, 33, 98  (b) 14, 87, 98, 97  
(c) 69, 96, 03, 56  (d) 99, 31, 86, 98   

51. Select the figure which satisfies the same conditions of 
placement of the dots as in Figure -X. 

  
52. Select the figure which satisfies the same conditions of 

placement of the dots as in Figure -X. 

  
53. Select a suitable figure from the four alternatives that 

would complete the figure matrix.  
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54. Select a suitable figure from the four alternatives that 
would complete the figure matrix.  

  
55 . Group the given figures into three classes using each 

figure only once.  

  
 A. 7,8,9 ; 2,4,3 ; 1,5,6  
 B.  1,3,2 ; 4,5,7 ; 6,8,9  
 C. 1,6,8 ; 3,4,7 ; 2,5,9  
 D.  1,6,9 ; 3,4,7 ; 2,5,8  
56. Group the given figures into three cla sses using each 

figure only once.  

  
 A. 1,2,3 ; 4,5,6 ; 7,8,9  
 B. 1,3,5 ; 2,4,6 ; 7,8,9  
 C. 1,5,9 ; 3,6,2 ; 4,7,8  
 D. 1,9,7 ; 2,8,5 ; 3,4,6  
57. Find out which of the figures (1), (2), (3) and (4) can be 

formed from the pieces given in figure (X).  

  

58 . Find out which of the figures (1), (2), (3) and (4) can be 
formed from the pieces given in figure (X).  

  
59 . Select the alternative which represents three out of the 

five alternative figures which when fitted into each 
other would form a complete square.  

  
 A. 124  B. 125  
 C. 234  D. 245  
60. Select the alternative which represents three out of the 

five alternative figures which when fitted into each 
other would form a complete square.  

  
 A. 123  B. 124  
 C. 135  D. 145  
61. Choose the set of figures which follo ws the given rule.  
 Rule:  Closed figures gradually become open and open 

figures gradually become closed.  

  
62. Choose the set of figures which follows the given rule.  
 Rule:  Closed figures become more and more open and 

open figures become more and more cl osed. 
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Directions (Q. No. 63 -64 ): Study the following digit -letter -
symbol sequence carefully and answer the questions given 
below:  
 R * T J L 2 $ D = M # 8 C % B < K 1 & A W ? P E + Q 

@ 7 F 6 
63. If the above sequence is written in reverse order then 

whi ch of the following will be sixth to the right of 
sixteenth element from the right end?  

 (1) M (2) A 
 (3) B (4) ? 
64. If the first fifteen elements in the above sequence are 

written in reverse order, then which of the following 
wil be twenty -first from the  right end?  

 (1) 2 (2) $ 
 (3) = (4) L 
Direction (65 -66): Choose the correct alternative from the 
following  
65. Assertion (A) : We feel colder on mountains than on 

plains.  
 Reason (R) : Temperature decreases with altitude.  
  Option  : 
 A. Both A and R are true and R is the correct 

explanation of A.  
 B. Both A and R are true but R is NOT the correct 

explanation of A.  
 C. A is true but R is false.  
 D. A is false but R is true.  
66. Assertion (A) : Inside the earth metals are present in 

molten state.  
 Reason (R) : Earth absorbs the sun's rays.  
 Option :  
 A. Both A and R are true and R is the correct 

explanation of A.  
 B. Both A and R are true but R is NOT the correct 

explanation of A.  
 C. A is true but R is fal se. 
 D. A is false but R is true.  
67. You find that the person whom you call your friend 

has been cheating you. what would you do ?  
 A) Break relations with him.  
 B) Give him tit for tat  
 C) Make him realise his mistake  
 D) Tell  other friends about him.  
68. A song always has  
 A. Word  B. Chorus  
 C. Musician  D. Tymbal  
69.  Yesterday I saw an ice cube which had already melted 

due to heat of a nearby furnace.  
 A.Always  B. Never  
 C. Often  D. Sometimes  
Direction (70 -71):  Each of the fo llowing questions contains 
a small paragraph followed by a question on it. Read each 
paragraph carefully and answer the question given below it.  
70 . Though the waste of time or the expenditure on 

fashions is very large, yet fashions have come to stay. 
They  will not go, come what may. However, what is 
now required is that strong efforts should be made to 
displace the excessive craze for fashion from the 
minds of these youngsters.  

 The passage best supports the statement that:  
 A. fashion is the need of the day.  
 B. the excessive craze for fashion is detrimental to 

one's personality.  
 C. the hoard for fashion should be done away with so 

as not to let down the constructive development.  
 D. work and other activities should be valued more 

than the outward appear ance.  
71. One of the important humanitarian by -products of 

technology is the greater dignity and value that it 
imparts to human labour. In a highly industrialized 
society, there is no essential difference between 
Brahmin and Dalit, Muslim and Hindu; they a re 
equally useful and hence equally valuable for in the 
industrial society individual productivity fixes the size 
of the pay cheque and this fixes social status.  

 The passage best supports the statement that:  
 A. technology decides individual's social sta tus.  
 B. castes and religions are man -made.  
 C. human labour has dignity and value.  
 D. all individuals, irrespective of caste and creed, are 

born equal.  
Direction (72 -73): Below in each of the questions are given 
two statements I and II. These statements may be either 
independent causes or may be effects of independent 
causes or a common cause. One of these statements may 
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be the effect of the other statements. Read both the 
statements and decide which of the following answer choice 
correctly depicts the re lationship between these two 
statements.  
72. Statements:  
 I. The staff of Airport Authorities called off the strike 

they were observing in protest against privatization.  
 II. The staff of Airport Authorities went on strike 

anticipating a threat to their jobs.  
 A. Statement I is the cause and statement II is its 

effect.  
 B. Statement II is the cause and statement I is its 

effect.  
 C. Both the statements I and II are independent 

causes.  
 D. Both the statements I and II are effects of 

indep endent causes.  
73. Statements:  
 I. A huge truck overturned on the middle of the road 

last night.  
 II. The police had cordoned of entire area in the 

locality this morning for half of the day.  
 A. Statement I is the cause and statement II is its 

effect.  
 B. Statement II is the cause and statement I is its 

effect.  
 C. Both the statements I and II are independent 

causes.  
 D. Both the statements I and II are effects of 

independent causes.  
Directions (74 -75):  In each question below is given a 
statement followed b y two courses of action numbered I 
and II. You have to assume everything in the statement to 
be true and on the basis of the information given in the 
statement, decide which of the suggested courses of action 
logically follow(s) for pursuing.  
74. Statement:  Exporters in the capital are alleging that 

commercial banks are violating a Reserve Bank of 
India directive to operate a post shipm ent export credit 
denominated in foreign currency at international rates 
from January this year.  

 Courses of Action:  
 I. The officers concerned in the commercial banks are 

to be suspended.  
 II. The RBI should be asked to stop giving such 

directives to comm ercial banks.  
 A. Only I follows  
 B. Only II follows  
 C. Either I or II follows  
 D. Neither I nor II follows  
75. Statement:  Most of those who study in premier  

engineering colleges in India migrate to developed 
nations for better prospects in their professi onal 
pursuits.  

 Courses of Action:  
 I. All the students joining these colleges should be 

asked to sign a bond at the time of admission to the 
effect that they will remain in India at least for ten 
years after they complete education.  

 II. All those student s who desire to settle in the 
developed nations should be asked to pay entire cost 
of their education which the government subsidises.  

 A. Only I follows  
 B. Only II follows  
 C. Either I or II follows  
 D. Neither I nor II follows  
Direction (76 -77):  Each qu estion given below consists of a 
statement, followed by two arguments numbered I and II. 
You have to decide which of the arguments is a 'strong' 
argument and which is a 'weak' argument.  
76. Statement:  Should India encourage exports, when 

most things are insufficient for internal use itself?  
 Arguments:  
 I. Yes. We have to earn foreign exchange to pay for our 

imports.  
 II. No. Even selective encouragement would lead to 

shortages.  
 A. Only argument I is strong  
 B. Only argument II is strong  
 C. Either I or II is strong  
 D. Neither I nor II is strong  
77. Statement: Should all the drugs patented and 

manufactured in Western countries be first tried out 
on sample basis before giving licence for sale to 
general public in India?  

 Arguments:  
 I. Yes. Many such drugs require different doses and 

duration fo r Indian population and hence it is 
necessary.  

 II. No. This is just not feasible and hence cannot be 
implemented.  

 A. Only argument I is strong  
 B. Only argument II is strong  
 C. Either I or II is strong  
 D. Neither I nor II is strong  
Direction (7 8-79): In each question below is given a 
statement followed by two assumptions numbered I and II. 
You have to consider the statement and the following 
assumptions and decide which of the assumptions is 
implicit in the statement.  
78. Statement:  "You are hereby appointed as a 

programmer with a p robation period of one year and 
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your performance will be reviewed at the end of the 
period for confirmation." - A line in an appointment 
letter.  

 Assumptions:  
 I. The performance of an individual generally is not 

known at the time of appointment offer.  
 II . Generally an individual tries to prove his worth in 

the probation period.  
 A. Only assumption I is implicit  
 B. Only assumption II is implicit  
 C. Either I or II is implicit  
 D. Both I and II are implicit  
79 . Statement:  It is desirable to put the child in school at 

the age of 5 or so.  
 Assumptions:  
 I. At that age the child reaches appropriate level of 

development and is ready to learn.  
 II. The schools do not admit children after six years of 

age. 
 A. Only assumption I is  implicit  
 B. Only assumption II is implicit  
 C. Either I or II is implicit  
 D. Neither I nor II is implicit  
Direction ( 80 -81 ): In each question below is given a 
statement followed by two conclusions numbered I and II. 
You ha ve to assume everything in the statement to be true, 
then consider the two conclusions together and decide 
which of them logically follows beyond a reasonable doubt 
from the information given in the statement.  
80. Statements: In a one day cricket match, the total 

runs made by a team were 200. Out of these 160 runs 
were made by spi nners.  

 Conclusions:  
 I. 80% of the team consists of spinners.  
 II. The opening batsmen were spinners.  
 A. Only conclusion I follows  
 B. Only conclusion II follows  
 C. Either I or II follows  
 D. Neither I nor II follows  
81. Stateme nts:  The old order changed yielding place to 

new.  
 Conclusions:  
 I. Change is the law of nature.  
 II. Discard old ideas because they are old.  
 A. Only conclusion I follows  
 B. Only conclusion II follows  
 C. Either I or II follows  
 D. Neither I nor II follo ws 
Direction ( 82 -83 ): In each of the questions below consists 
of a question and two statements numbered I and II given 
below it. You have to decide whether the data provided in 

the statements are sufficient to answer the question. Read 
both the statements and  
Give answer  
 (A) If the data in statement I alone are sufficient to 

answer the question, while the data in statement II 
alone are not sufficient to answer the question  

 (B) If the data in statement II alone are sufficient to 
answer the question, while the data in statement I 
alone are not sufficient to answer the question  

 (C) If the data either in statement I alone or in 
statement II alone are sufficient to answer the 
question  

 (D) If the data given in both statements I and II 
together are not sufficient to answer the question and  

82. Question:  In which year was Rahul born ?  
 Statements:  
 I. Rahul at present is 25 years younger to his mot her.  
 II. Rahul's brother, who was born in 1964, is 35 years 

younger to his mother.  
 A. I alone is sufficient while II alone is not sufficient  
 B. II alone is sufficient while I alone is not sufficient  
 C. Either I or II is sufficient  
 D. Both I and II are sufficient  
83.  Question:  What will be the total weight of 10 poles, 

each of the same weight ?  
 Statements:  
 I. One-fourth of the weight of each pole is 5 kg.  
 II. The total weight of three poles is 20 kilograms more 

than  the total weight of two poles.  
 A. I alone is sufficient while II alone is not sufficient  
 B. II alone is sufficient while I alone is not sufficient  
 C. Either I or II is sufficient  
 D. Neither I nor II is sufficient  
Direc tion ( 84 -85):  An electronic device when fed with the 
numbers, rearranges them in a particular order following 
certain rules. The following is a step -by-step process of 
rearrangement for the given input of numbers.  
 Input: -  85   16   36   04   19   97   63    09 
 Step I : - 97   85   16   36   04   19   63   09  
 Step II : - 97   85   63   16   36   04   19   09  
 Step III : - 97   85   63   36   16   04   19   09  
 Step IV : -  97   85   63   36   19   16   04   09  
 Step V : -  97   85   63   36   19   16   09   04  
 (for the given input step V is the last step).  
84.  Which of the following will be Step V for the given 

input ?  
 Input : 25   08   35   11   88   67   23  
 A. 88 67 35 25 23 11 08  
 B. 88 67 35 25 08 11 23  
 C. 08 11 23 25 35 67 88  
 D. 88 67 35 25 23 08 11  



                                                    PPSC T est -02                     
--------------------------------------------------------------------------------------------------------------------------------------- 

 
I.B.S. Registered Office: SCO. 108-109, Sector-8C, Madhya Marg, Chandigarh. Ph: 092161-78310 

Head Office: SCO. 134-135, Top Floor, Sector 34-A, Chandigarh. Ph: 093160-68310 
Corporate Office: A-45-46, Near Nirman Vihar Metro Station, Laxminagar, New Delhi. Ph: 092666-78310 

- 8 - 

85.  Which of the following will be Step III for the given 
input ?  

 Input : - 09   25   16   30   32   19   17   06  
 A. 32 09 25 16 30 19 17 06  
 B. 32 30 09 25 16 19 17 06  
 C. 32 30 25 09 16 19 17 06  
 D. 35 25 09 16 30 19 17 06  
Direction ( 86 -87):  Study the following information 
carefully and answer the given questions.  
For a recruitment process in an organization, the 
candidates need to possess the following qualifications 
criteria:  
 (i) A graduate in science with at least 60% marks.  
 (ii) An age of at least 25 years and not more than 40 

years as on 1 - 7 - 2008.  
 (iii) Have a post -qualification work experience of at 

least 2 years.  
 (iv) Should have secured 55% marks in the selection 

process.  
 However, if the candidate ful fills the above -mentioned 

criteria except  
 (A) at (i) and if the candidate is not a graduate in 

Science but has a post graduation degree with 
minimum of 60% marks, he/she should be referred to 
the HR – Manager of the organization.  

 (B) at (iii) and if the  candidate fulfills all the eligibility 
criteria but of post – qualification work experience but 
has secured 75% marks in the selection process, 
he/she may be referred to the Director of the 
organization.  

 Based on the above information study carefully 
whether following candidates are eligible for the 
recruitment process and mark your answer as follows. 
You are not to assume anything other than the 
information provided in each question. All the cases 
are given to you as on 1 - 7 - 2008.   

86. Pradeep Kumar has 6 years of post -qualification work 
experience. His date of birth is 12.4.1942. he has 
secured 58% marks in the selection process. He has 
completed graduation in Science and scored 76% in it.  

 A. if the candidate is to be selected.  
 B. if the candidate is not to be selected.  
 C. if the candidate may be referred to the HR -Manager  
 D. if the candidate may be referred to the Director.  
87. Zaheer Ahmed has completed graduation and post 

graduation Economics from Bhopal in 1999 and has 
secured 51% and 68% mark  respectively. His date of 
birth is 26.11.1976. He has been working as an 
executive in a reputed firm since 2003 till date. He 
secured 56% mark in the selection process.  

 A. if the candidate is to be selected.  

 B. if the candidate is not to be selected.  
 C. if the candidate may be referred to the HR -Manager  
 D. if the candidate may be referred to the Director.  
Direction ( 88 ): The following questions are based on the 
information given below:  
 1. A cuboid shaped wooden block has 6 cm length, 4 

cm breadth and 1 cm height.  
 2. Two faces measuring 4 cm x 1 cm are coloured in 

black.  
 3. Two faces measuring 6 cm x 1 cm are coloured in 

red.  
 4. Two faces measuring 6 cm x 4 cm are coloured in 

green.  
 5. The block is divided into 6 equal cubes of side 1 cm 

(from 6 cm side), 4 equal cubes of side 1 cm(from 4 cm 
side).  

88. How many cubes having red, green and black colours 
on at least one side of the cube will be formed ?  

 A. 16  B. 12  
 C. 10  D. 4  
Direction ( 89 ): Each of these questions given below 
contains three elements . These elements may or may not 
have some inter linkage. Each group of elements may fit 
into one of these diagrams at (A), (B), (C), (D) and/or (E). 
You have to indicate the group of elements which correctly 
fits into the diagrams.  
89. Which of the followi ng diagrams indicates the best 

relation between Travelers, Train and Bus ?  

 A.  B.  

 C.  D.  
Directions ( 90 -94 ): Read the following information 
carefully and answer the questions given below:  
There are eight people A, B, C, D, E, F, G and H are sitting  
around a rectangular table for the lunch and are facing 
towards the center of the table. Two people are sitting on 
each side on table and face those, who are sitting on 
opposite side of the rectangle. They all get different marks 
in ibps clerk exam viz. 7 2, 63, 42, 83, 40, 62, 20 and 22 
but not necessarily in the same order.  
A is sitting third to right of C. A get 62 marks and sit on 
one of the smaller sides of table. There  are two persons 
sitting between A and D. B is sitting fourth to right of D. 
The one  who get 40 marks sits second to right of D. Three 
persons sit between the one who get 40 marks and the one 
who get 72 marks. The one who gets 63 sits second to right 
of one, who gets 72 marks. Person who gets 20 marks is 
sitting opposite to the one who ge t 22 marks. B does not get 
22 marks. E and F are sitting opposite to each other. F 
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scores 83 marks. H is opposite to D.  
90. Whose get 72 marks?  
 (a) B (b) C 
 (c) D (d) E  
91. If F is related to E and C is related to A, in the same 

way D is related to ? 
 (a) G (b) B 
 (c) H (d) None of these  
92. Who among the following sits third to right of one who 

gets 20 marks?  
 (a) The one who get 83 marks  
 (b) The one who gets 63 marks.  
 (c) H 
 (d) The one who gets 22.  
93. Which of the foll owing is correctly matched?  
 (a) G-63 (b) F-20 
 (c) E- 72 (d) C-83 
94. Who sits opposite adjacent to the one who gets 62 

marks?  
 (a) H (b) The one whose gets 20 marks.  
 (c) G  (d) The one who gets 42 marks  
95.  Find out a set of numbers amongst the  four sets of 

numbers given in the alternative which is most like 
the set given in the question:  

 Given Set : 5, 9, 16  
 (a) 4, 8, 16   (b) 6, 9, 12  
 (c)  7, 11, 18  (d) 8, 11, 12  
96.  Giridharlal’s family consists of his wife Radha, 3 sons 

and 2 daughters.  One daughter is yet to be married 
and the other daughter has a son. Two sons have 2 
children each and the third son has 3 children. An old 
aunt and son in law also stay with them. How many 
members are there in Giridharlal’s family?  

 (a) 20  (b) 19  
 (c)  18  (d) 17  
97.  A family went out for a walk. Daughter walked before 

the father. Son was walking behind the mother and 
ahead of father. Who walked last?  

 (a) Son   (b) Father  
 (c)  Mother   (d) Daughter  
98.  Seema is the daughter in law of Sudhir and sister in 

law of Ramesh. Mohan is the son of Sudhir and only 
brother of Ramesh. Find the relation between Seema 
and Mohan.  

 (a) Sister in law  (b) Aunt  
 (c)  Cousin   (d) Wife  
99.  If in a code language PRINCIPAL is written as 

MBOQSOMVW and TEACHER is wri tten as FDVSZDB, 
how is CAPITAL written in that code?  

 (a) SVMOFVW  (b) SVMODVW  
 (c)  BVMODVW  (d) SVMIDVW  

100 . Rahim travelled straight from point E to F at a 
distance of 5 km. From F he turned left and travelled 6 
km and reached point G, there he took  a left turn and 
travelled 5 km to reach point H. He took another left 
turn and travelled 2 km and reached point I. How far 
is he form he starting point?  

 (a) 3km   (b) 4 km  
 (c)  5 km   (d) 7 km    
101.  Humayun Nama was written by  
 (a) Humayun  (b) Akbar  
 (c) Abul Fazl  (d) Gulbadan Begum  
102.  The Mughal Emperor who discouraged ‘Sati’ was - 
 (a) Babur  (b) Humayun  
 (c) Akbar  (d) Jahangir  
103.  With which country Indian army begin 'Yudh Abhyas 

2017' military exercise?  
 A. UK  B.  US 
 C. Russia  D. Nepal  
104 . Who inaugurated Dr Ambedkar National Memorial in 

New Delhi, recently?  
 A. Venkaiyah Naidu  
 B. Arun Jaitley  
 C. Ramnath Kovind  
 D. Narendra Modi  
105 . Which Battle laid the foundation of Mughal rule in 

India?  
 (a) Battle of Plassey  
 (b) Battle of Talikota  
 (c) First Battle of Panipat  
 (d) Battle of Haldighati  
106 . The second Battle of Panipat was fought between  
 (a) Akbar and Hemu  
 (b) Rajputs and Mughals  
 (c) Babur and Ibrahim Lodi  
 (d) Sikander and Adilshah  
107 . What is the growth rate of India according to the BMI 

Research report?  
 A. 8.1 % B.  5.5%  
 C. 7.2%  D. 6.9%  
108 . How many countries have suspend their membership 

in UNASUR recently?  
 A. 10 B.  6 
 C. 8 D.5 
109.  Who got t he Gita translated into Persian ? 
 (a) Shah Jahan  (b) Akbar  
 (c) Murad  (d) Dara Shikoh  
110 . Bibi -Ka-Maqbara is located in India .at  
 (a) Fatehpur Sikri  (b) Aurangabad  
 (c) Hyderabad  (d) Jaunpur  
111.  Which Airport has been rated as the world's best 

airport for the sixth consecutive year by UK -based 
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consultancy firm Skytrax?  
 A. Changi Airport, Singapore  
 B. Haneda Airport, Japan  
 C. Kempegowda International Airport, Bengaluru  
 D. Incheon International Airport, South Korea  
112.  Which has been certified as the world's first Trusted 

Digital Repository?  
 A. PTAB B. NCAA  
 C. ICPSR D. CRL 
113 . Who among the following introduced the Mansabdari 

system?  
 (a) Shah Jashan  (b) Sher Shah  
 (c) Akbar  (d) Jahangir  
114.  The Market Regulation system was introduced by  
 (a) Muhammad -Bin -Tughlaq  
 (b) Iltutmish  
 (c) Ala-ud -din Khilji  
 (d) Ghias -ud -din  
115. Which movie won the maximum number of awards in 

90th Academy Awards ceremony?  
 A. Call Me by Your Name  
 B. Blade Runner 2049  
 C. The Shape of Water  
 D. A Fantastic Woman  
116.  Which company has been honoured as the World's 

Most Ethical Company for the ye ar 2018 by 
Ethisphere Institute recently?  

 A. Tata Steel  B. Dell  
 C. Volvo Cars  D. Pepsico  
117.  A motion moved by a member in a legislature when it 

is desired to have a discussion on a matter of urgent 
public importance is called  

 (a) Adjournment motion  
 (b) No-confidence motion  
 (c) Cut motion  
 (d) None of these  
118.  Which of the follwong is true regarding ‘No Confidence 

Motion’ in the Parliament?  
 (a) There is no mention of it in the Constitution  
 (b) A period of six months must lapse between the 

introd uction of one ‘No Confidence Motion’ and 
another.  

 (c) Atleast 100 persons must support such a motion 
before it is inroduced in the House.  

 (d) It can be introduced in the Lok Sabha only.  
 (a)  b and d  (b) a, b, c and d  
 (c)  a, b and c  (d) a and d  
119.  Which Indian university has been ranked among top 

10 in Times Higher Education (THE)'s 2017 World's 
Best Small Universities?  

 A. Indian Institute of Science (IISc), Bengaluru  

 B. Indian Institute of Technology (IIT), Guwahati  
 C. Savitribai Phule Pune Univer sity  
 D. Indian Institute of Technology (IIT), Bombay  
120.  Who approves 20 lakh houses for urban poor 

approved under PM Awas Yojna recently?  
 A. Shri Venkaiah Naidu  
 B. Shri Arun Jaitley  
 C. Shri Naveen Patnaik  
 D. Shri Suresh Menon  
121.  A member of Parlia ment will lose his membership of 

Parliament if he is continuously absent from Sessions 
for  

 (a) 45 days  (b) 60 days  
 (c) 90 days  (d) 365 days  
122.  A joint sitting of the two Houses of Indian Parliament 

is presided over by the  
 (a) President of India  
 (b) Vice-President of India  
 (c) Speaker of the Lok Sabha  
 (d) Attorney -General of India  
123.  Which Union Minister launched the mobile app of 

(MHA) Grievances Redressal Mobile Application and 
Border Security Force (BSF)?  

 A. Ramvilas Paswan  
 B. Y.S. Chowdary  
 C. Rajnath Singh  
 D. Venkaiah Naidu  
124.  Who is appointed as a chairman of Public Accounts 

Committee (PAC) of Parliament?  
 A. Mallikarjun Kharge  
 B. Kuruppassery Varkey Thomas  
 C. N. Janardhana Reddy  
 D. Buta Singh  
125.  If the Speaker of Lok Sabha intends to vacate his office 

before the expiry of his term, he sends his resignation 
to 

 (a) Chairman of Rajya Sabha  
 (b) Leader of the House (Lok Sabha)  
 (c) Deputy Speaker of Lok Sabha  
 (d) President of India  
126.  How many ‘types of emergencies are envisaged by the 

Constitution?  
 (a) 1 (b) 2 
 (c) 3 (d) 4 
127.  Which city is hosting the 2017 National Children's 

Film Festival (NCFF)?  
 A. Hyderabad  B. Visakhapatnam  
 C. Jaipur  D. Bhopal  
128.  Union Government signed USD 350 million loan 

agreement with which financial o rganisation for road 
projects in Madhya Pradesh?  
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 A. International Monetary Fund (IMF)  
 B. World Bank  
 C. New Development Bank  
 D. Asian Development Bank  
129.  Which of the following is presided by a non -member ?  
 (a) Lok Sabha  (b) Rajya Sabha  
 (c) Vidhan S abha  (d) Vidhan Parishad  
130.  What are the basic, functions of Public Accounts 

Committee (PAC) ?  
 (a) to examine the statement of accounts showing the 

income and expenditure of state corporations, trading 
and manufacturing schemes and projects.  

 (b) to exa mine the accounts of stores and stocks.  
 (c) to examine the statement of accounts of 

autonomous bodies  
 (d) All the above  
131. The famous Lagoon lake of India is:  
 (a) Dal Lake  (b) Chilka Lake  
 (c) Pulicat Lake  (d) Mansarover  
132.  I Do What I Do: On Reform , Rhetoric & Resolve was 

the book of __________. 
 A. Dalai Lama  
 B.  Taslima Nasreen  
 C. Raghuram Rajan  
 D. Dr. Shashi Tharoor  
133.  Whose birth anniversary has been celebrated as the 

Social Justice Day?  
 A. Mahatma Gandhiji  
 B.  Dr BR Ambedkar  
 C. Swami Vive kananda  
 D. Subhash Chandra Bose  
134.  Duncan Passage is located between  
 (a) South and Little Andaman  
 (b) North and South Andaman  
 (c) North and Middle Andaman  
 (d) Andaman and Nicobar  
135 . Which of the following mountain ranges in India are 

the oldest?  
 (a) Himalayas  (b) Vindhyas  
 (c) Aravalli  (d) Sahyadri  
136.  The Andaman group and Nicobar group of islands are 

separated from each other by  
 (a) Ten Degree Channel  
 (b) Great Channel  
 (c) Bay of Bengal  
 (d) Andaman Sea  
137.  The coastal tract of Andhara Prad esh and Tamil Nadu 

is called  
 (a) Konkan  (b) Coromandel  
 (c) East Coast  (d) Malabar Coast  
138.  How many cabinet ministers are there is government 

of Punjab?  
 A) 9 B) 12  
 C) 15  D) 18  
139.  Who received the Krishi Karman Award on behalf of 

Punjab govt?  
 A) Capt. Amarinder Singh  
 B) Manpreet Singh Badal  
 C) Brahm Mohindra  
 D) Tript Rajinder Singh Bajwa  
140.  Which  of following  Indian State has the largest 

coastline?  
 (a) Andhra Pradesh   
 (b) Maharashtra  
 (c) Orissa  
 (d) Tamil Nadu  
141.  The southern tip of India is 
 (a)  Cape Comorin  
 (b)  Point Calimere  
 (c)  Indira Point in Nicobar Islands  
 (d)  Kovalam in Trivandrum  
142 . The fertile land between two rivers is called  
 (a) Watershed  (b) Water divide  
 (c) Doab  (d) Terai  
143.  Which Indian city will get 10,000 CCTV cameras to 

ensure women's safety?  
 A. New Delhi  B.  Chennai  
 C. Bengaluru  D. Mumbai  
144.  Name the Telecommunication System used by banks 

across the world to transmit messages relating to 
cross border financial transactions?  

 A. GPS system  B. SWIFT system  
 C. Tracker system  D. Transaction system  
145.  Demand curve of a firm under perfect competition is :  
 (a) horizontal to x -axis  
 (b) negatively sloped  
 (c) positively sloped  
 (d) U – shaped  
146.  Which one of the following pairs of goods  is an 

example for Joi nt Supply ? 
 (a) Coffee and Tea  
 (b) Ink and Pen  
 (c) Tooth brush and Paste  
 (d) Wool and Mutton  
147.  Guru Ki Wadali is associated with which Guru?  
 (a) Guru Ram Das  
 (b) Guru Hargobind  
 (c) Guru Arjun Dev   
 (d) Guru Gobind Singh  
148.  What was ancient name of Jhelum?  
 (a) Sindhu  (b) Vitasta  
 (c) Sarusti  (d) Vipasha  
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149.  Who propounded Dynamic Theory of profit?  
 (a) Clark  (b) Schumpeter  
 (c) Knight  (d) Hawly  
150.  Tha Law of Demand is based on  
 (a) Manufacturer’s preference  
 (b) Seller’s preference  
 (c) Suppli er’s preference  
 (d) Consumer’s preference  
151.  Bins Duab Canal take off From Which city?  
 (a) Mansa  (b) Gurdaspur  
 (c) Ropar  (d) Jalandhar  
152.  Operation 'Blue Star' was started in  
 (a) 6 July 1974  (b) 6 June 1984  
 (c) 6 August 1984  (d) 21 July 1980  
153.  If a good has negative income elasticity and positive 

price elasticity of demand, it is a  
 (a) giffen good  (b) normal good  
 (c) superior good  (d) an inferior good  
154.  Buyers and Sellers will have perfect knowledge of 

market conditions under  
 (a) Duopoly  
 (b) Perfect competition  
 (c) Monopolistic competition  
 (d) Oligopoly  
155.  Where is Deer Park, Neelon Situated  
 (a) Ludhiana  (b) Bathinda  
 (c) Patiala  (d) Zirakpur  
156.  Where is Chhapar Mela held  
 (a) Hamirpur  (b) Gurdaspur  
 (c) Ludhiana  (d) Fatehgarh  
157.  If the supply curve is a straight line passing through 

the origin, then the price elasticity of supply will be  
 (a) less than unity  
 (b) infinitely large  
 (c) greater than unity  
 (d) equal to unity  
158.  Who said ‘Supply creates its own demand’?  
 (a) Adam  Smith  (b) J.B.Saw  
 (c) Marshall  (d) Ricardo  
159.  Name the Misl to which Raja Ranjit Singh belonged?  
 (a) Kanhaiya Misl  (b) Singhpuria Misl  
 (c) Nakai Misl  (d) Sukarchakya Misl  
160.  Who was Governor of Punjab under the rule of 

Jahangir?  

 (a) Wahir Khan  (b) Murtaza Khan  
 (c) Abdulla Khan  (d) Zakaria Khan  
161.  Among the following materials sound travels fastest in  
 (a) Steel (b) Air  
 (c) Vacuum  (d) Water  
162.  Decibel is a term connected with : 
 (a)  air  (b)  water  
 (c)  sound  (d)  soil  
163.  The working of a ro cket is based on the principle of:  
 (a) Conservation of momentum  
 (b) Conservation of mass  
 (c) Conservation of energy  
 (d) Conservation of angular momentum  
164.  Iron is prevented from rusting by coating with zinc. 

This process is called as  
 (a) Galvanisat ion  (b) Corrosion  
 (c) Sublimation  (d) Reduction  
165.  The process of improving the quality of rubber by 

heating it with sulphur is called.  
 (a) Vulcanization  (b) Acceleration  
 (c) Sulphonation  (d) Galvanization  
166.  Which is the largest railway junction of  Asia?  
 (a) Bhatinda  (b) Amritsar  
 (c) Jalandhar  (d) Ludhiana  
167.  Which district of Punjab  does not  touches border  of 

Pakistan?  
 (a) Amritsar  (b) Taran -Taran  
 (c) Pathankot  (d) Ferozepur  
168.  Milk tastes sour when it is left in open for some time. 

This h appens due to the formation of  
 (a) Lactic acid  (b) Citric acid  
 (c) Acetic acid  (d) Carbonic acid  
169.  Which of the following is a supercooled liquid?  
 (a) Ice Cream  (b) Teflon  
 (c) Glass  (d) Mercury  
170.  The chemical name of ‘Common salt’ is  
 (a) Sodium  chloride  
 (b) Sodium nitrate  
 (c) Ammonium chloride  

(d) Calcium chloride  
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Answer Key  
 

1 2 3 4  5  6  7  8  9  10  11  12  13  14  15  16  17  18  19  20  

b d c a b d a a b a d b b b a b c a c b 

21  22  23  24  25  26  27  28  29  30  31  32  33  34  35  36  37  38  39  40  

d a c a c c a c a c c c d a b d a d c b 

41  42  43  44  45  46  47  48  49  50  51  52  53  54  55  56  57  58  59  60  

c c c b a b c c a d c a a c d a a b b d 

61  62  63  64  65  66  67  68  69  70  71  72  73  74  75  76  77  78  79  80  

c a a a a c c a b c c d a d b a a d a d 

81  82  83  84  85  86 87  88  89  90  91  92  93  94  95  96  97  98  99  100  

a d c a c b c d c d c d c d c a b d a b 

101  102  103  104  105  106  107  108  109  110  111  112  113  114  115  116  117  118  119  120  

d c b d c a d b d d a b c c c a a a a a 

121  122  123  124  125  126  127  128  129  130  131  132  133  134  135  136  137  138  139  140  

b c c a c c b c b a b c b a c a b d d a 

141  142  143  144  145  146  147  148  149  150  151  152  153  154  155  156  157  158  159  160  

c c c b a d b b a d c b a a a c d b d b 

161  162  163  164  165  166  167  168  169  170  
 

a c a a a a c a c a 

 
 


